
Multiplication: Numbers up to 50 (V-2)
SOLUTIONS

Name:

Time: Score: /

65) 1 6

1 0

1 6 ·
1 6 0

×
66) 2 1

1 0

2 1 ·
2 1 0

×

67) 3

1 0

3 ·
3 0

×
68) 2 6

1 0

2 6 ·
2 6 0

×

69) 1 9

1 0

1 9 ·
1 9 0

×
70) 4 8

1 0

4 8 ·
4 8 0

×

71) 4 5

1 0

4 5 ·
4 5 0

×
72) 4 2

1 0

4 2 ·
4 2 0

×

73) 4 8

1 0

4 8 ·
4 8 0

×
74) 3 3

1 0

3 3 ·
3 3 0

×

75) 4 6

1 0

4 6 ·
4 6 0

×
76) 4 8

1 0

4 8 ·
4 8 0

×

77) 1

1 0

1 ·
1 0

×
78) 3

1 0

3 ·
3 0

×

79) 2 4

1 0

2 4 ·
2 4 0

×
80) 2 6

1 0

2 6 ·
2 6 0

×

81) 4 7

5

2 3 5

×
82) 8

5

4 0

×

Mathematics: Multiplication - Level 2 - Vertical - Set 2 26 © workulum.com

https://www.workulum.com

